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Sentence Connectors Questions for Bank Exams (IBPS Clerk 
Pre, IBPS PO Pre, SBI Clerk Pre & SBI PO Pre). 
Sentence Connectors Quiz 8 
 
Direction: In the following questions two columns are given containing three 
Sentences/phrases each. In first column, sentences/phrases are A, B and C and in the 
second column the sentences/phrases are D, E and F. A sentence/phrase from the first 
column may or may not connect with another sentence/phrase from the second 
column to make a grammatically and contextually correct sentence. Each question has 
five options, four of which display the sequence(s) in which the sentences/phrases can 
be joined to form a grammatically and contextually correct sentence. If none of the 
options given forms a correct sentence after combination, mark (e), i.e. “None of 
these” as your answer. 
 

1. 
Column I    Column II  

(A) Freelancing is an attractive 
profession now 

  (D) it is not possible for 
anything to yield results 

(B) It is often seen that creative 
people suffer from 

  (E) though it is costing a lot in 
marketing 

(C) The new scheme of the 
bank is paying dividends 

  (F) with lot of websites offering 
decent payments 

 
A. A-E, B-F  B. B-D   C. A-F, C-E  D. B-F, A-F, C-D 
E. None of these 

 
2. 

Column I    Column II   
(A) The demise of the political 

leader last night 
  (D) with a lot of first timers 

taking keen interest in it 
(B) The entrepreneurship fever 

is a hit in India 
  (E) left a void in the state 

though there are many to 
step in 

(C) Police are very ineffective 
most of the time 

  (F) the modified version is a 
very strong one 

 
A. C-D, A-E  B. A-F, B-D  C. A-E, B-D  D. C-D 
E. None of these 

 



 

 

3. 
Column I    Column II 

(A) The bank merger proposal is 
still pending 

  (D) a lot of threats to the 
personal space 

(B) There is a proposal to link 
the increment with 

  (E) with a lot of questions 
around it 

(C) The advent of net banking is 
bringing with it 

  (F) suspension of disbelief is a 
required criterion 

 
A. B-D, A-F  B. A-E, C-D  C. C-E   D. A-F, B-D 
E. None of these 

 

4. 
Column I    Column II 

(A) The Supreme Court has 
observed time and again 

  (D) so that the new vehicles can 
be added also 

(B) It is necessary to 
understand the basics of 

  (E) that death penalty is not a 
deterrent 

(C) The Motor Vehicles Act 
1988 should be amended 

  (F) the joint family structure is 
not there now 

 
A. B-D, C-E  B. A-F, B-D  C. A-F   D. A-E, C-D 
E. None of these 

 

5. 
Column I   Column II 

(A) The television should be 
used as a useful medium 

  (D) that everybody should be 
alert always 

(B) Legalizing Euthanasia is a 
major concern 

  (E) use of drugs should be 
controlled at once 

(C) Nobody knows the truth 
except him 

  (F) that Mumbai is so costly to 
stay for common man 

 
A. A-F, C-D  B. C-E, B-F  C. A-F, C-D  D. A-E, B-F, C-D 
E. None of these 

 
  



 

 

6. 
Column I   Column II 

(A) The house is infested with 
so many insects 

  (D) very difficult to predict for 
anybody 

(B) Everybody should see a 
doctor in any case 

  (E) the advent of smartphones 
is very common 

(C) The competitive 
examination pattern is 

  (F) that it is difficult for him to 
come there 

 
A. A-F, B-D  B. C-D   C. A-E, B-F  D. A-E, B-F, C-D 
E. None of these 

 

7. 
Column I   Column II 

(A) The food delivery business 
is becoming popular 

  (D) to tolerate for the children 
in schools 

(B) Most of the times crimes 
take place at home 

  (E) in the country due to the 
strong domestic demand 

(C) The rising temperature is 
becoming difficult 

  (F) that rains in the city are 
proving fatal for us 

 
A. B-F, A-E  B. A-F, C-D  C. A-E, C-D  D. B-D, C-E 
E. None of these 

 
8. 

Column I   Column II 
(A) The acute water crisis in the 

city is due to 
  (D) psychological problems for 

extreme stress 
(B) The India Post Payments 

Bank has started 
  (E) the scarcity of groundwater 

in most of the areas 
(C) Most of the children are 

suffering from 
  (F) its operations with 650 

branches across the country 
 

A. C-D, A-E  B. A-E, C-D, B-F C. C-E, A-F, B-D D. B-D, A-F 
E. None of these 

 

  



 

 

9. 
Column I    Column II 

(A) It is very important that 
content is given 

  (D) the insurance companies 
are doing pretty well 

(B) The High Court is of the 
view that it is 

  (E) the mutual funds are drying 
up day by day 

(C) He needs to understand 
that he is now 

  (F) the FDI in pension sector 
should be increased 

 
A. A-F   B. B-D, C-D  C. A-E, B-F  D. A-F 
E. None of these 

 

10. 
Column I   Column II  

(A) The farmers are finding it 
very difficult to sustain 

  (D) of the places in India 
especially in villages 

(B) Honor killing is a truth that 
exists in most 

  (E) there is a problem with the 
existing scenario 

(C) It should be acknowledged 
by the committee that 

  (F) due to the high prices of 
even basic cropping 

 
A. A-F, B-D  B. A-E, B-F, C-D C. A-F, B-D, C-E D. A-F, C-D 
E. None of these 
 
 

  



 

 

Correct Answers: 
 

1 2 3 4 5 6 7 8 9 10 

C C B D E B C B E C 

 
Explanations:  
 
1. 
 
Connectors: 
A and F 
A: Freelancing is an attractive profession now  
F: with lot of websites offering decent payments 
  
C and E 
C: The new scheme of the bank is paying dividends 
E: though it is costing a lot in marketing 
  
Other pairs do not have any such relationship and therefore cannot be combined to 
make a meaningful sentence. 
  
This makes Option C the right choice among the given options. 
 

2. 
 
Connectors: 
A and E 
A: The demise of the political leader last night  
E: left a void in the state though there are many to step in 
  
Hence, these two are matched. 
  
Connectors: 
B and D 
B: The entrepreneurship fever is a hit in India 
D: with a lot of first timers taking keen interest in it 
  
So, these two are also matched with each other meaningfully. 
No other pair shares this relationship and therefore they cannot be combined to form a 



 

 

meaningful sentence. 
  
This makes Option C the right choice among the given options. 
 

3. 
 
Connectors: 
A and E 
A: The bank merger proposal is still pending 
E: With a lot of questions around it 
  
C and D 
C: The advent of net banking is bringing with it 
D: A lot of threats to the personal space 
  
No other pair has the same relationship and therefore they cannot be combined to form 
a meaningful sentence. 
  
Hence, it makes Option B the right choice among the given options. 
 

4. 
 
Connectors: 
A and E 
A: The Supreme Court has observed time and again 
F: that death penalty is not a deterrent 
  
C and D 
C: The Motor Vehicles Act 1988 should be amended 
D: so that the new vehicles can be added also 
  
None of the other pairs shares the same relationship with each other to form 
meaningful sentence. 
  
Hence, Option D is the correct choice among the given options. 
  

 
 
5. 



 

 

 
None of the given pairs shares the relationship to form a meaningful sentence by 
combination. 
  
Hence, Option E is the correct choice among the given options. 
 

6. 
 
Connectors 
C and D 
C: The competitive exam pattern is 
D: very difficult to predict for anybody 
  
None of the other pairs shares this relationship and that is why they cannot be 
combined to form meaningful sentences. 
  
This makes Option B the correct choice among the given options. 
 

7. 
 
Correct Option: C 
Connectors: 
A and E 
A: The food delivery business is becoming popular 
E: in the country due to the strong domestic demand 
  
C and D 
C: The rising temperature is becoming difficult 
D: to tolerate for the children in schools 
  
No other pair can be matched in order to form a meaningful sentence since they do not 
share such relationship. 
  
This makes Option C the right choice among the given options. 

8. 

Connectors: 
A and E 
A: The acute water crisis in the city is due to  
E: the scarcity of groundwater in most of the areas 



 

 

  
C and D 
C: Most of the children are suffering from  
D: psychological problems for extreme stress 
  
B and F 
B: The India Post Payments Bank has started  
F: its operations with 650 branches across the country 
  
Hence, Option B is the right choice among the given options. 

 
9. 
 
None of the given pairs shares the relationship to be matched together so that a 
meaningful sentence may be formed by combing them. 
  
This makes Option E the right choice among the given options. 
  

10. 
 
Connectors: 
A and F: 
A: The farmers are finding it difficult to sustain 
F: due to the high prices of even basic cropping 
  
B and D: 
B: Honor killing is a truth that exists in most 
D: of the places in India especially in villages 
  
C and E 
C: It should be acknowledged by the committee that 
E: there is a problem with the existing scenario 
  
This makes Option C the right choice among the given options. 
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